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1. Specification Revision
1.1 Stage 1000 Planning

1003. Define Requirements
(1-1) HE =0l CHEt 8-S Alzhol Wefokstrt. 7 dotLt WHE X| TAtZ Alzh dE
[CHE] “HE =30f CHEH 8BS AlZHO] 1 O|Ljo{of BHCt "2 7
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1003. Define Requirements

Performance Requirements

- B{E 2I2{0]| thEt 22 A|240] 1E O|LHGIO} BHTY
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Operating Requirements

- Microsoft Windows 10
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(1) E MIHm]| &= description -> use case No. & name 22 £
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1006. Define Business Use Case

Function Use case No. & name Category
R4.2 pauseStopWVatch 13. Pause Stop\Watch Evident
R43  resetStopWatch 14. Reset StopWatch ' Evident
R44  getStopWatch 1. ShowStopWatch I Hidden
R45  getLaptime 15. WatchLapTime "~ Hidden
R46  storeLapTime 16. StoreLapTime Evident
R51  setDday '17. Set D-day ' Evident
R52  showDday 18.Show D-day ' Hidden
R53  deleteDday 19, Delete D-day ' Evident

(2) Hidden ¢! usecase & 2| actor = system 22 =
[CHE] SQAL| I|=4Hof 57 OOPT 1000 +%H

1006. Define Business Use Case

Use Case 1. Show Current Time
Actors System
Description WA AIZHE, Y A E %) 2 HOECL

Use Case 2. Set Current Time

Actors User
Description TIAIZH B8 A 2 £ )2 HFs)

(3) R 4.4 O] HrX{Ql0{ M, O F o AR K| = (1003, 1006 7t X[)
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(4) Set Alarm When | Want - 222 =
(EALE
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1006. Define Business Use Case

Use Case 3. Set Alarm When | Want

Actors User

Description L7t RSH= AlZHAlL =, £)0 23S Y-ET0
ere OWIEE| M Jhs3ict
iRt | c“Etfll 0 F FE MEEH UCHHE A2 27 HEZ SETH 0000 0022 H
HED Al B, E£E K28 A7 sHEE 4 with

Use Case 4 Sound Buzzer
Actors System
Description SHE S2It}

T go™ A ZEI0}

e

(5) Reset Alarm - 34X 22 M& A|ZtE off 2 A8 > (X7IZH0 A0 E 0 X2 2
A5t 2 = (AZH2 time O| 1, off &= enable/disable 0|22 &047} CHELICH

[CHE] Reset Alarm2 Delete Alarm2 2 &4 #47Z 2l ysecase L& & #HZ, 34|
EAE] UE LEHE MAete 7SR HAE. L& 2 2| 4700/ 25 A X|5H0o4 4 E 0|
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1006. Define Business Use Case

Use Case 5. Tum Off Buzzer
Actors User

Description 2HE 2L
Actors User

Descripion  2EE Aixetct

ZEO| gls W2 OFFE = ECL

Use Case 7. Show Alarm
Actors System
Description LS HHEL

(6) SetTime 2} Alarm 2| 7|S9| 2&
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- 1. SetTime SO $&x AlZto| E{ztct. /2. &2 ZHAL= 3R AlZHo| HE S M &5t K|
olerh S SR SY ER

[CHE] SetTimeZ 0| $RHA|ZHO| B EIREMM 247t JU=R0| IS, AHSXIE HE
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1.2 Stage 2030 Analyze

2031. define essential use case
(1) Hidden @! usecase £2| actor = system S 2 =74
[CHE] Hidden®! usecase= 2| actorg Systeme 2 =73 2t=2

2031. Define Real Use Case

Use Case 1.Show Current Time

Actor System
Type Hidden
SecoL o B 2ED timekeepingO| T
Typical Courses of [t
Events (S) BH| AlZHE FA|BICL

1.EX7t 2% AIZH2 A& BAIECL
2.d-091 C|o|o|7t ExstH st Cio|e] M2t T R Unt 2o} obH
A FA| EICH
Exceptional N/A
Courses of Events

Alternative
Courses of Events

(2)Set Alarm when | Want 2| (8) -> 22 4 JHofl A =74



[CHS] usecaseOll L& 1740 LB 4742 =7H &t 2

2031. Define Real Use Case

Use Case 3. Set Alarm When | Want

Actor User
Type Evident
Pre-Requisites Y Do T E HEROF TICE

1.Actor, (S) System
2 (A) Y22 S| 28 HE12 L2t
3.(S) O F FOjM AIZH2 A3 £ OIE= (0 0 022 EABICH
ta B s
: (A) 0| 2==|= THe0] st HETS 22Asit
Typical Courses of Faf-ChtrumiihoniuSiubiipl NGRS,
Events 7.(A) 2E AjzF 50| Szc|m 220l HEAS Sajsict
8.(S) AEEl Ajzto= erzo| SAgCE
9.(S) LS DIIIR| A £ 01, 4740] YHO| Y Aol MES TS ZIIEH YD
ALHS0; Bt
10.(S) S @2o| Al2i0| 2|t EXE S2it

I 1.0 4 =3 g2t SRl UAE BRY0AR SRS S TR E 4 200
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(3)Set D-day: d-day M2 of £5t Mol CHEt MHO| WA{US
[CHS] usecaseOl d-dayH| 2 0i] #38F M F7} 2t=

2031. Define Real Use Case

Use Case 17 5et D-day
Actor User
Type Evident
Pre-Requisites [RELIR==s U

(A):Actor, (S):System
1.(S) CiH|0|& g=sh | s HE1S SECt

2(A) 2 2ESH 4E0=S0 HEIE S8 HE 14 S0
3.(A) SHE0| 22 =M CHEH sidth=s HEZE STt
4(S)HE2E 28 E, U N2, Hexr02 PHEED 2 HEEICE
5.(5) 22 12014 HE2E F27 12 BiEE| =5 7L
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Events 6.(5) 22 1,3.57.8,10,12E2 3101 HEIS =20 12 HEE(D, 252 28 FH0= 29UH M
HE28 £22 1, LIZ| 22 300 HE28 £2H 12 HHECL

7. (S) 2= CHEX UM 3=2X2 HE0ts SHH P S, S9m =X, MM =7 242 9t
HlE F7MAF|H dFERL

8. (5) 37K opy2| CIE|0|E St 1 81 HAl 21 Ql= CJH|01E AFE = HERc)

LT RS T 1 C]G|0] -4 & Buzzer? 2™, Buzzers MO C|H|0| & A& HE 4= QICH
S e e s | L OHO) AR £ 2E HE HES £2 OH0| 420 TR CE ZE2 HoITh

2033. define system sequence diagrams
(1) Pause Timer - Z 2 use case 2| LHEO| CH&.( ‘EFO|H7} HE A|ZHRE CHA| A|ZfEICH
2t 80| F7HE) > SULTE =T EHR
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1006. Define Business Use Case

Use Case 23. Pause Timer

Actars User
Description ~ Ef0|0{S 220 A2t Z7[31e|x] bt}

Use Case: 23 Pause Timer

= T=

1.(A) AFEAL7T EFQHE 27t BED| QlehiA HE2
2.(S) Timer= X7t &
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1.3 Stage 2040 Analyze
(1) real use case 0| A & A3t MH *;' ~EQHE >HE 15202 £H
[CH&] usecase|M HHE1 S22 =7 %PE

2041. Define Real Use Case

Use Case 2. Set Current Time
Actor

Type Evident
Pre-Requisites [kl Bk b Eo=Rnt a3

1 Actor, (S) System
2.(A) HRA| LIS B 25 BIE1E £
3(S) ES EET £ UEE BATIE
4.(A) HE2E =8 14 S/t51HM 28 =TT
5.(A) 20| SEE|T CHa 0 SiTohs BE1E S20)
- 6.(S)HIE10] ST S50 M2t 8 A A 2 = 2208 AABKIL S T 4 QU EASCE
Typical COUrses of s PuEs Biet P R ) e 299 ED| Hei}
Events 8(S) H2 197952079 37K HET £ 0]
9.(5) 22 1201 B E2E -'T-EE 1§ ﬂ".:.’EIE% T
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T1.(A) 25 A|Zt 47H0] Q2T YE0 HE4E ST
12.(3) T A|ZE0| 2% AIZISE BEEIL

Aternative Courses of Events TSI SR SHE TR AT SES AL YT = UL
Exceptional Caurses of Events 5 DCE M0 71E 27 UEL MDA BED,

10 (5) 2213578101282 310M HHE2SE SEMZE AL 222 8% SHENE 2020 AM HE2
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(2) 2040 04| A hidden usecase = interaction diargram 2 Htfof
me XA

[CHS] ==/ M hidden usecase T interaction diagra

k=2
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(3) SetTime 2| Z} £t Q| HZ EQ (ex 'HT: 1980~2080)
[CH&]1979~2079'A7 K| MH Jts3tctn F7HE.
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2. Set Current Time

User

Evident

T AIZHE B0 FE BECOF SO

1.Actor, (S) System

2.(A) EHAI{E BHEY] 2i5) BlE1S FELL
3.(5) 2= SHET = ULCE FEASICE
4.(A)HHE2E =2 +14 F/01HA 28 +EB0L
5.(A) 280 2= OEFU S ka

6.(5) HE10| 31T S0 M2} 2,
7.(S) AFS R HED e LW
s8(5)H2 19?9L=|~2ﬁ?9ﬁ|7r1<| AT -.-‘*- EAE ;

0.(5) 22 12004 =28 —'T-E':“ 12 HEEEE TihE
1048) €2 1.357810 128 2 30X HE2E FEW1E HALL 222 28 SH0= 2020 M HE2
=FH 1, LHOA 22 3001I-\‘| HE2E FEH 1E HE L

147% £ 957t 220 $HE S0P AL SES AL IT L 5 A0
1873 5 OCS WS 7|E 43 P52 HYSIK 2

2. Brute - Force Test
2 Set Current Time

MY & #X7I SEIH FXMHE SEalok AlZF dHE H& T-EE & U7t
- AR MY 2ol TIQJA] AlZE #HE0l| 0[5t AR AH EoX|= AlZFE
O4Z=740]
H= A =3-

3 Set Alarm When | Want

AlZHERQ7F EH-U-A-B-=-8 =0 2 HEE| =7}
- AL, =B 755t usecase B4

17 Set D-day

A% CICl0] AlZHO| #AH AlZHECH Ojgjelzt
Ik 72l AlZHE Clelo] Mol 7ts. ST YR RE| 257x| HYO| KX EAL

25 Set Timer
AZHERRTE R-B-Al &2 2 HEE =7t
- AL B, =2 HAL| T E usecase HZA

27 Change Mode
Dday € &4 Mode 0| A M[7{ZH 2 [ timekeeping Ol Bt P =] = K|
- DdayZ mode0il M HM|7{A| timekeepingdl BIASEE =X
Dday X 7|2 Alof timekeeping 0l &2t B3| =7}
- Dday 7|3} A|0] timekeepingdll £ZF HHAPE| & &7



